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mass is conserved across shock mass does not
accumulate in the shock
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mass flux in mass flux out
strictly speaking this is the normal componentof the

velocity only Tangential components of velocity is
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momentum flux conservation Cst
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techniques are all the same equations
are different but similar Here I'll assume the
gravity is inandeled seporeteey therefore 11 take
the nature as a given

ge i g detlgtrol
also assume we have a stress energytensor
as a current density
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Only complicated port compared to before is

con2ptim
the lorentz factors h complicate everything
conzprim requires a nonlinear solve that should
be iterate until convergeon added complication is
the Eos needs to be invented at each iteration
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